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The Big Bad Wolf goes to the fair and rides on a ferris wheel
He starts at a height of 2m above the ground, has a maximum height of 18m, and takes 20 sec for one complete revolution
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1) Sketch a graph of the height h as the wheel rotates (clockwise)
2) Write an equation for the height h

height = ACosBx + C

Midline?


Amplitude?


Find ‘B’


The Big Bad Wolf caught the mixed ability pig that lived in the straw house and was roasting him on a spit over a fire.

The distance ‘d’ of the little pigs foot varies from 28cm to 88cm above the fire and one revolution takes 4 minutes


1) Sketch a graph of the distance ‘d’ of pigs foot from the fire
2) Write an equation for the distance ‘d’ 


The Big Bad Wolf found the pig a bit tough. He tried to tenderize the little pig by using his swinging meat tenderizer (designed himself)
The distance from the tree trunk ranges from 1.8 to 4.6 meters. To swing from one side to the other takes 3sec

1) Sketch a graph of the distance ‘d’
2) Write an equation for the distance ‘d’










































Trig Equations: Applications B

















Trig Equations: Applications A
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Trig Equations: Applications C
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